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Attempt any 4 questions. All questions carry equal marks

Indian MNC Airtel, purchased Zain Telecommunications in South Africa to enter the African
market. Identify the mode of entry used by Airtel and explain its features and suitability.
Compare this with various other entry mode options available to MNCs like Airtel to enter
foreign markets and their relevance and suitability.

The US MNC McDonald’s entered India in 1991, as the new liberalization policy created an
enabling economic environment which was supported by a growing middle-class market.
Over the years McDonalds has faced numerous challenges and made several product
adaptations to survive in India’s complex and multidimensional business environment.
Discuss and explain.

“Regional economic integration is a symbol of modern globalization but is challenged by
increasing nationalism”. Explain the different stages and impact of regional economic
integration, with suitable contemporary examples.

The Balance of Payments Account is a record of the country’s international transactions.
What are its components? Is it true that the Balance of Payments account is always in
equilibrium? What is the role of export promotion and import substituting policies in the
Balance of Payments of a country.

“Countries use tariff and non tariff barriers to turn the terms of trade in their favour”. Explain
the rationale and differential impact of using tariff and non tariff barriers in international
trade. Use two examples of different kinds of barriers to illustrate your explanations.

Write short notes on any two :

a. IMF as a regulator of global finance
b. Special Economic Zones

Foreign Exchange risk and exposure
d. Forms of international trade payment.
e

Geocentric orientation
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